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Directions
items :

for the following 8 (eig'hﬂf

Read each of the following two passages
and onswer the items that follow. Your '
answers to these ifems should be based vn
the passuges vnly, :

Passage-1 |

For achieving inclusive ;_{mwth-i
there is a critical need to rethink the role }
of the State. The carly debate among |
economists about the size of the f.
Government can be misleading. The need |
of the hour is to have an enabling|
India is too '
complex 8 nation for the State to be ablu‘
to deliver all that is needed. Asking the

Government to produce all the essential

Government. large  and

goods, create all the necessary jobs, and .
. : [
keep a curb on the prices of all goods i&.to

lead to a large cumbersome bureaucracy
and widespread corruption. _r

The aim must be to Stay with t-he%
objective of inclusive growth that was Jaid ‘
down by the foanding fathers of the
nation and 2lso tofake a more modern
view of what the State cun realistically

deliver. ]

This is what leads to the idea of an
enabling State, that i3, a Government that I
does not try to directly deliver to the
citizens  everything that they need. :
Insteaa, it {1) creates an enabling ethos ;

for the market so that individual

P-PFC.L-CGJB {2 - A}

enterprise can {lourish and citizens can,
for the most pari, provide for the needs
of one ancther, and (2 steps in to kelp
those who do not manage to do well for
themselves, for there will always be
individuals, no matter what the system,
who nced support and help, Heace we
need a Government that, when it comes
to the

incentive-compatible rules and remains on

market, sets effective,
the sidelines with minimal interfercnce,
and, at the same time, plays an important
role _in directly helping the pour by
ensuring that they get basic education
and health services and receive adequate

nutrition and food.

According to the passage -

1. The objective of mclusive growth
was laid down by the founding

fathers of the nution,

2. Need of the hour is
enabling ((overnment.

to hive an

3. The (Guvernment should enguge in

maximum interference i market

Processes,
4. There 14 a need to change the -ize of
the Government.

Which of the statements given above are
correct ?

fa) 1 and 2 only

b} 2 and 3 only

(c; 1 and 4 only

(d) 1,2 3 and 4
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2.  According to the passage, the strategy '4.
of inclusive growth can be effected byi
focussing on
‘a)  Meeting all the needs of cvery
citizen in the country.

(b} Increasing the regulations over the
manufacturing sector,

(¢e) Controlling the distribution of 5
manufactured goods. ’

{d. Delivery of the basic services to the |
deprived sections of the socicty.

3. What constitutes an enabling "
Government ?

1. A large bureaucracy.

2. Implementation of welfare
prugrammes through
representatives.,

d. Creating an ethos \ that helps!
individual enterprise,

4. Providing résources o those who |
are underprivileged.

5. Offering direct help to the poor
regarding hasic services.

Select the correct answer from the codes

given below : l

{a} 1, 2 and 3 only

‘b) 4 and 5 only !

(¢) 3,4 and 5 only |

(d) 1,23, 4and 5

P-PFC-L-CGJB {4 -

A )

Why is the State unable to deliver “all
that s neceded” ?

1. It does not have sufficient hurcaucracy.
2. It does not promote inclusive growth.

Select the correct answer from the codes
given below :

(a) 1 only

(h; 2 only

(¢) Both 1 and 2

{d) Neither 1 nor 2

What is the exsential message being

conveyed by the author of the passage ?

‘a) Thel objeetives of inclusive growth
laid ‘down by the founding fathers of
the nationt should be remembered,

(b} The Government needs ‘o make
available more schools and health
services,

et The Government needs to establish
markets and industries to meet the
needs of the poor struta of the society.

‘d)  There is a need to rethink the role of
the State in achieving inclusive
growth.

Passage-2

The concept of ‘creative gociety’ refers
to a phase of development of a society in
which a large number of potential
contradiclions become articulate and
active. This is most evident when
oppressed social groups get politically
mobilised and demand their rights. The
upsurge of the peasants and tribals, the
movements for regional autonomy and
self-determination, the environmental
movements, and the women’s movements
in the developing countries are signs of
emergence of creative  society  in
contemporary times. The forms of social
movements and their intensity may vary
from country to country and place to place
within a country. But the very presence of
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transformation m|
various spheres of a society indicates the ;

movernents for social

emercence of a  creative society in a
country, |

What does the author imply by “creative
society” ? ;

1. A =ociety where diverse art forms
and literary writings scek Trecative.

2. A society where social inequalities
are aveepted as the norm. !

3. A suddety where a large number uf
contradictions are recognised.

4. A soviety where the exploited and |
the: oppressed groups grow conscious
ol rthetr human righte  and

upltflment.

. i
Selet the correct answer u-ing the codes
given velow

‘a- 1. 2and 3 ]
b 4 unly

‘e, 3 and 4 ;
d 2 oand ¢ |

What yccording o the passagéhart the
manifestations~ of social moveroents

1. Aggressiveness andebeing ineendiary. ;
2. Ipstigation by external'forées, :
|

3. Quest fur siciai equality and individual

Frecdom

4, Urge for  granting  privilege:  und
self respect to disparaged sections of
the mll‘i('ty. k

Seteet the correct answer using the codes |
given below - '
1 and 3 only

|
b 2 and 4 unly i

r;.
i

and 1 only

1 2 % and 4

‘B

8.

F iy

)

With reference th the passage, consider
the following statements -

1. To e a vreative socicly it is
essential to have a variety of social

movements,

2. To be a

imperative  to

creative  soviety, i s

have  potential

contradictions and cunflicta,

Which of the stutements
is‘are correct ?

given above

ta) 1 only

‘b 2.0nly
¢ Bath 1 and 2

‘dy Neither 1 nor 2

‘onsider the following three statements -

I Only students can participste in the
race.

2. Some participants in the race are
girls,

3. All gir! participants in the race are

invited for coaching.

Which one of the following conclusions

can be drawn from  the above

statements ?

ta’  All participani- in the race are
invited for couching

b} All  stodents are  invited for
coaching.

tc.  All participants tn tMe race are
students.

{dj None of the statement- fa), {b* and

i¢; miven above s correct.
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Directions for the following 2 (fwo) items: 12. Consider the four age pyramids given

: . X below namel A, B ¢ nd [
Each of the following two items {?onswts! ey ' 8

of four statements. Of these four' representing four different countries.
statements, two cannot both be true, but:
both can be false. Study the statements
carefully and identify the two that

XerA
satisfyv the above condition. Select the'! A > e s

. . | R > e s
correct answer using the codes given ! - Percent in age (‘135"- -

Which one of them indicates the

below zach set of statements : .
! dcclining population ?

10. Examine the following statements :

1. All snimals are carnivorous. : {a; A
2 Sceme animals are not carnivorous. ' b} B
3. Animals are not carnivorous. _'
4 Some animals are carnivorous. {cy €
Codes : (d} "D
(a) 1 and 3 I
(b> 1 and 2 13..The following figure has four curves
w) 2and3 namely A, B, C and D. Study the
'd; 3 and 4 figure and answer the item that follows.
11. Examine the following staterments . E
=
L. Al trains are run by diescl/engine. E
2. Some trainsgmare), runt by desel g
engine, '..3
3. No train is run by diesel engine. §- _
i A ol 0 2 ; 1__-_.1.. C e ke i
4, Sume trains are not an by diesel | DAD ANE 0 pla) U Teu E0GE TR NN THUS worilh
eng ne. Yeur
Which curve indicates the exponential
Codes : .
——— i growth ?
‘ay 1 and 2 ta} A
(b} 2 and 3 by B
‘) 1and 3 ‘ {c; C
(d) 1and4 | d) D

P-PFC-L-CGJB (8- A)
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The following pie charts show the
break up of disease categonies recorded in
the patients from two towns, Town A and
Town B. Pie charts plot the disease
categuries  as  percentage of the total
number of patients. Based on  these,
answer the two items that follow the
charts,

Distribution of discases in Town - A

/ N 37 Dia
Yl =+" High BP
Obesity e 3%
34 n '
I
4 e e
\‘K t—HEdﬂ Disease
[ 22¢ '
\J\L\ n
'\Udh ﬁ
""'JL..LI_ [ 11 L3A

| -

=5 SO D
- (thers 190 Diabetes:
SR L

- P
L

‘J
[ Obesity
28
'\d } [ eart
N Jl: 3
""l\' ]
~ -
i 10 .

Directions for the following 2 (fwo) items : ' 14.

15,

A}

Which of the two towns has a higher
number of persons with [Yabetes ?

{a) Town A
{b) Town B
{¢c; Same in Town A and Towp I3
(d) No inference can be drawn
What can we say about persons with
more than one disecase from these
graphs ?
‘a) 'There are likely to be persons with
more than one disease in Town A.
(b) There are likely to be persons with
moresthan one disease in Town B.
{e) Thererare likely to be persons with
more than one disease in both
TownswA and B.
{d), No inference can be drawno.
Consider the following Velocity - Time
graph. It shows two trains starting
simultancously on paratlel tracks.
4
I
[
-3
L=
z |
€
> |
¥
!

Time

With reference to the above graph, which
one of the following statements is not
correct ?

(a) Train B has an initial accelerstion
greater than that of Train A.

(b} Train B is faster than Train A at all
times.

(¢} Both trains have the same velocity
at Lime t[)'

(dy Both trains travel the same distance
in lime Y units.
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Directions for the following 6 (six} items :

Reod euch of the following tweo passoges |
and answer the itemns that follow. Your
answers to these items should be based on
the passages only.

Passage-1 |

Ecosystems provide people with ar
variety of goods and services; food, clean'
water, flaod
stabilization. pellination, climate
regulation, spiritual fulfilment
aesthetic enjoyment, to name just a few,
Most  of these

irreplaceable or the technology necessary :
J

clean air, control, soilﬁ

and

benefits either are
tu repiace them is prohibitively expensive. :
For example, potable fresh water can be
provided by desalinating sea-water, but

only ar great cost.

The rapidly expanding
population has greatly wmodified the
Earth’~ ecosystems to meet theirdncreased |

human

requirements of some of the gZoods and!

services, particularly food), fresh) water,
timber, fibre and fuel. These medification:s
have contributed substantially to human
well being and ecofivmic devélopment. The: |
benefits have not been equally distributed.

Some people have actually been harmed !

by these changes. Moreover, short -:,urm.‘
Increase< in some ecosysiem goods a.ndl
services have come at the cost of the

long term  degradation of others. For|
example, eftorts to increase the production |
of food and fibre have decreased the
ability of some ecosystems to pm»idel_
clean water, regulate flooding and support |

biodiversity.

P.PFC L-CGJB (12 -

7.

18.

A

With reference to the passage. consider
the following statementas.

Expanding human
adverse effect on :

population has an

I.  Spirttual fulfilment

Aesthetic enjoyment

2
3. Potable fresh water

4.  Preduction of food and fibre
5 Biodiversity

Which of the statements given above are
correct ?

1, 2 and@"only

‘b: 2, 4and 5 only
‘c; 3 and 5 only
td; 1,2, 3, 4and5b

The passage mentions thar “some people
have actually been harmed by these
changes”. What does it imply ?

1. The rapid expansion of population
has adversely aftected some people.

2.  Suflicient effort< have not been
made to increase the production of
food und fibre,

3. In the short term some people may
be harmed, but in the long term

everyune will benefit from
modifications in the Farth's
ecosystems.

Which of the statements
ig/are correct ?

given above

ral 1 only

tb1 2

{ct 1and 3

(d+ None of the statements given above
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FrfaRag 6 (57) g & foe Ader - 17,
EfiReqa a oraiet & & gee o) afer Ik
7 Jyia Re m geien & Jo} @ |
g7 geaiel & F9E FY Hac a@iEl R &
smenfRa & wiee |

91
uRfefe-da ami & Rt wer &

élsqﬁ@rafﬁmmmmmmﬁwmﬁﬂ
$ 71 Fy whfid s el SR

yRiem w9 & WM & | JareRene, S S
1 foeariierur o) ST HEATUT Fel 3T

o] S 9@ &, fog g' saiis aa
R WE T - LR

TR [ B B 2 | e o
| gARE wesy, Y AR e @ er &8
& smaegmant @ ofd S\fe w5
uRReRe-dE 3 it garsien ® |
&7 SURedH1 3 He W, a3k i
o A wgR dWEw f&ar € | 3 @ wEe
w1 ¥ fyaRa =@ ge &4 371 IRaddl 9 36
it B g wif gd | 5us kiR,
TRReIR-a3 B DB awga vd Jams B
s g, gt % dafafy swdor @
A W S & | SEROnd, Wi v 9 S
TEA B §eN B Yo 9 PP
TE D G ATIENE |

-mﬁﬁaﬁﬁ,ﬁaﬁﬁaﬁﬁaﬂjwﬁw

FifFe |

d
4
A
4

Sa-fafagar ®

mﬁﬁﬁﬁaﬂqﬁm'ﬂ'@r%?

(a) &aw 1, 2301 3

(b) Faw 2,485

(¢) Wwarmg:als

(d) 1,2,3, 43R5

iy # 3w 2 5 g oRadH @ 3B

Sl @ IR S g8 & |7 59 T A F

FHafeda & ?

1. SHEEN & dF gig o $T anl «®
yidige yHIT Ugl 7 |

2. wu&’&ﬁaﬁm&qﬁqﬁaﬁ%{
fore wofwr e I g € |

3. T % wRkRerfa-of § R @
T &, feg Qufafsr & wh ami
&Y gga |

Wﬁéaﬁqmjﬁwﬁmﬂé‘rﬁ%?

(a) Had 1

b 2

(¢ 13K 3

@ 3w DU A A B W

P-PFC-L-CGJB (13 -A)
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19.

P-PFC-L.-CGJB

With reference to the passage, consider !20.
the following statements :

b It s imperative to modify  the
Karth’s  ecusystems for +he well
being of mankind, "

2. Technology can never replace all the
goods  and  services provided by
ecosystems.

Whoch of the statements given above
is/are correct ?

{ay 1 only

‘b, 2 only

(¢} Both I and 2
‘d, Neither 1 nor 2

|

Passage-2

A moral act must be our gwn act; must
spring from If we act'
mechanically, there is no moral cuntent n :
our act. Such action would be moral. if we \
think it proper to act like a machine and
do For. in doing so, wo/use our
discrimination. We should befir in mind !
the distinction acting ;
mechanically and acting intentionally, lt’

our own will.

&1},

between
]
may be moral of a Ring te pardon a culprit,

But the messenger/carryingéut the order l
of pardon plays only.4 mechanical part in '
the king’s mora! act. Bat if the menaen;geri
were to the king's order|

considering it to be his duty, his sction

carry out

would be a moral one, How can a man |
understand morality who does not use his
own intelbigence and power of thought, but |
lets himself be swept along like a log of
wood by a current ? Sometimes a man
defies convention and acts on his own with |
a view to absolute good.

(14 .

‘21,

22,

A}

Which of the following statements best

describe/describes  the thought of the
wrter ?
1. A moral act calls for umIIP Gur
discretion.
2. Mar sheold react w0 a situation
immediately,
Man must do his duty.
Man  should be  able 1w defy

convention in order to be groral,

Select the correct answer from the codes
given below :

(a) 1 only

by 1 ands8
ey 2 and 3
‘d: 1 and 4

Which e the following <tatements is the

nearest . definition of moral action,

according to the writer ?

ar It v a mechanical uction based on
official orders from <uperiors.

b Il 13s an action based on vur sense of
discretion.,

(e} 1t s a clever action based on the
clarity of purpose.

‘dy It ix a relgious wctien  based on

understanding.

The passage containe o statement “lets

himseif he swept along like a g of wood

by a current.” Among the following

statements, which issare nearest  in

meaning to this 7

1. A person does not use his own redson.

2. Heis susceptible to influence/uressure.

3. He cunnot withstand  difficulties
challenges.

4 Heis hike a log of wood

Select the correct answer using the codes
given befow :

{a} 1 only

(b} 1 and 2
{cy 2and 3
(dv 1 and 4
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19. w@ier % gy ¥, FrafaRea $UHl | 9ER
P '

1. wFE ST ¥ oodol $ fou g $
FUTITS & |

0. Wi &0 &t aRRafke-dE s
ved B 3 are ael Iegeh vd sl
o ®F T A dwa | |

e § A BE-AyBR-G T WS e

(a) adl 1

(b) ¥ad 2

(¢) 13k 2aH

@ A1k TE 2

TaTer-2

#ﬁragtqﬁﬁmla's’maﬁﬁﬁﬁ
o g9 U3 o ORE B S Bl I
AR 7 TOR T B | Fie, UHN B
@mmﬁéﬁmqﬁmm%“lgﬁm
T ¥ qifye 1 ¥ ol HE, SR, AW
FH A B §g e matge | o
3T % e vE SR @ amEELeHT Afdd
B o & | Ty F RS e @
Wﬁ#m@wﬁ?ﬁﬂﬁﬁwﬁ
Yam Ue difye yHer o 8 e s
& | =g 9 g SN B AR B AR A
Ha TRHIR alg o, A 9D T 0B
Aors oo @M | B ter e S
oz 3k frer ofe o1 s 7 @, AR
AR B A S A aad &

> U 58 T & &, Afaem o e &9
e T & | e &¥-oW WRH Sedm
@ gfic ¥ R B @ I wd A ol
¥ B Bl & |

Join Telegram Group
https://t. me/studymaterialofexam

(16 — A}

20. Enefeifad i A F-aVER-A oo s B

Ry & gdiaT v ST B/aRA € 7
1, ﬂﬁﬁmﬁgﬁﬁﬁummaﬂ

o, ot Tt & wha =g & sifacis
giaferan &t afge |
3 :%ﬁmmawmﬁl

|
4, e 2 ¥ o wgw o S B sE
&= T 1 g |

A R e He B TETar § T R g -
(a) &I 1
() L3R 3
© 23R8
@ 13k 4

dmm B Iar, Fefafea 4 wF-a

HoF Afas Fea o Foeaw afkdm & ?

(a) U IRDT & ﬁrﬁlﬂﬁﬂi RN W
FenRa aitis $

&) agmﬁﬂasa‘mu'{

(c) UE A a%gmwwsmgq

e € |
) TR T W Ieia i g ¢ |

 an i E A aRE

YAIR 3 WY AP d P& & THM §E I

dar & |7 Feafafed § ¥ SRR

B, aT/5He Freean 3 88 ?

1. e Fo abglg & W el ERa |

9. @8 wE/eEE B gia afd-wwe ¢ |

3. ag soTgd/gfal & w8 @
s |

4 TEUDY S P D TR |

I fw e ge A Ferar F FE) IW g

(a) &ael 1

b 132

(0 23Rr3

(d) 13 4




23.

24. Consider the following figures ;
2| 6 | 3 | 2|
0 | 24 120 36 |
What ix the missing number ?
ta> 7
(b: &
e, 9
(dr» 10
P-PFC.L-CGJB [ 16

Consider the following distance time
graph. The graph shows three athletes A,
B and C running side by side for a 30 km
race,

C

. 'B
35} ;
4 a0} ‘A
f 25} '
5 -20'
g 15¢ ,‘
o 1
£ m} .
= |

B T

[

"‘“‘I“""‘"'I'—""‘f_‘—'ll" - w——r

I3 20 26 30 35 40 45

Distance in km - >

With reference to the above graph.l
consider the following siatements '

I The race was won by A

2 B was ahead of A up to 95 km126,
mark

3. € ran  very slowly froms ‘the
beginning. !

Which of the statements gven above

is‘are correct ?

{a. 1 only

‘b: L and 2 only
el 2 and 3 only
'dr 1, 2 and 3

25.

Study the following figure :

A person goes from A to B slways moving
to the right or downwards along the lines,
How many different routes cun he adopt ?

A
f i i
-
—_— . 4

F g !
! :
L
B

Select the correet answer from the codes
given below

(a)
(h;
(¢

4
o
6
d, 7

Consider the following figure and answer
the item that follows

What is the total nember of triangles in
the above grid ?

fa: 27
by 26
f¢: 23
(dy 22
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23. 25.
Hisie | 98 9= A, B ¥ C 94 09 e
as“rmim%ahwmsoma?ra’\gam_
TWE I

Cl B
) 351 :
301 EA
I 25} .
A 1
#r 20} :
E 15¢ B E
Elﬂ-. C ':
ol :
ol 5 10 15 20 25 30 35 40 45
TWkm § ——
I e B e 7, ﬁm%ﬁaﬁm
w~ R oitee |
1. dedams A STAEE | !
2. M%kmﬁﬁmBﬂﬁ?ﬁAﬁSﬂﬁ'zs'
ar
3. mcw%é\a@ﬁﬁ%fﬂgwmi ‘
3oges # ¥ P-APT-F FYT TENER ?
(a) &Il 1 | .
(b) Hael 131X 2
{¢) ®ad 23R 3
@ 1, 2 3R 3
24, ﬁﬁé’fﬂéﬁ@%ﬁu{ﬁmaﬁﬁw
) 6 3 { ?
80 | 24 120 | 36
qa ST O & ?
(ay 7
(b) 8
{c}) 9
d 10
P-PFC-L-CGJB (17 - A}

frfafad U -og ame R R

AR & w8 el ) R Hiw

s At AT B 9P 99 IR B -

el Ren § s S & fen § s e

st & | 98 foad -G anf e

TEar & ?
A

s frs § Pl B go s e
g7

(a) 27

(b) 26

() 23
(d) 22
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Directions for the following 4 (four) items :

PPHC L CGUB

Rod the fedbain s pussargie and answer

Hhe st that follow Your onswers o |
Phe v picfrig ahotd  he based wn the
frrsst v oty

Passage

A ceumtry ander foreign domunation
stehe estape from the present in dreams
of & vanihed age, and finds consdlation
e visions of past greatness. That s a
fonlish and dangerous pastime in which |
many indulge. equally I
guest onable practice for us in India is to l’
that are still  spintually
great thuuph we have come down 1n the |

of s An

rmagrme W

'27.

world in other respects. Spiritaal or uny 28,

cannot be fourded
fack of frocdom and opportunity, or on:
starvabion and oisery, Mauny wustcrni
writers have encouraged that notion that
tadiar< are other worldly, T suppose the

other oriutrgess O

poor dan¢ unfortanate in every rauntry
othersworldlyn
dtdess they become revolutipnared, for |

becume Lo dome exbent
thes  world i« evidently not rreant For;

them. So alko subjeet peoples. |

As o men growseiin maturity he is
not entirely or satisfied
with, the external _éhjective world. He .
el NN meaning,
prycholopmica. und physical satisfactions.
Sialeo with peuples and civilizatioes as
thivy adult, Every
prople  wxhibit
thes sarailel wtreama of an external Ve

enarossed n,

':ﬂnlb =OTTRE “Gme

mature  and  erow

Civillzation  and Eh Ty
ang 40 interna! Nle. Where they meet or
Ty uther, there an
“tability. When they

diverit confiel arses ynd the crises that

WO e OF T3 15

eyuthbrium  and

wrture the mind and spirit

. 18

29.

A

The passage mentions that “thix wurld is
evidently not meant fur them™. It rofers tu
people who

L. seck frecdom from foreign domonation.
2. live in starvation and Misery.

3. become revolutionaries,

Which of the stztements given  above
Is‘are cgrrecy ?

tal I and 2

'h: 2 only

e} 2aund 3

‘d) 3 only

Consider thefollowing assumptions .

L.'A ceurtry under foreym  domiration
cannot indulge in spimitual pursuit.

2 Poverty is an ‘mpediment in  the
spirttual pursait
3. Subject peop!es may become

other-worldly.

With reference to the passage, which of
the above assumptions is‘are valid 7

(a) 1 and 2
bi 2 only
i 2 and 3
d 3 onjy

The passape thematically centres on

a4 the state of mind of opprossed prople
b starvat on and misery

‘¢. the growth uf viviiization

‘d: body. mind ard spimt of pesple in
genora)
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Frfife 4 (a) seiel & B R -

fr=ferRad ciaier o gige ik 39 Fu<ia faw
e FINIF & IR EHW | 57 §eiE & NS
IR FaeT ETeT R # menia g+ wifFe |
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B ¥ wige o 2 | 98 v

E

%
:

X

% 53
g
>

et
%

;1_11%34,
:

AT
1
it

d
:
:

E:
:
:
|

t
i
3
x
|
b

:
!
&
]

i
]
3

:

:
y

&
3
3

EE
@5
L
P
Sy

114
4 24
22y,
244
Z gk

%

27.

28.

29.

(19 - A}

araigl I oo € 6 “gg Aie WoOeRT: 39%
e 8 & 17 gg 3 A @ A o &,
S

1. foeeh mym & wadmar o € |

2. @R 3R g@ & FAET I ¢ |
3. HifdeN & I- & |

I A ¥ BE-AYBA-N U & E ?
(a) 13k 2

(b) a2

© 233

(d) &ad 3

fPrafrites At | faur i -

1. fR v ¥ 3E o o aeaTiore
FJE0 H T S 8 W |

2. | memicRd sgERel ¥ Feaar saRies
&

3. RN 319 RS-0l & 9%d § |
Yoo aEE § Wl #, e 3w
HAFAI/ARIAe &8 2/8 ?

(ay 132

(b) had 2

() 23R 3

(d) &aer 3

9w e & favg-awg Feefeiea @ @
fraRacad?

(a) ﬁ%ﬁ@ﬁﬁmﬂ

(b) HEw 3R g8 W

() TwE & fdem ®|

(@ T A S A, A SR e W

Join Telegram Group
https://t. me/studymaterialofexam




30. According to the passage, the torture of |31. Which region/regions  of the curve

the mind and spirit is caused ; correspond/corresponds  to  incubation
‘tar by the impact of foreign domination. phase of the infection ?
{by by the desire to escape from foreign (a} A only
domination and find consolation in ‘b) B only
visions of past greatness. (c) BandC
_ v T b (d) No part of the curve indicates the
{e) due to lack of equilibrium between incubation phase

an external life and an internal life.
‘d} due to one’s inability to be either |32. Which region of the curve indicates that

revolutionary or other-worldly. ' the person began showing the
symptoms of infection ?

Directions for the following 3 (three) @) A
ifems ;
Read the passage given below, study the' ) B
graph thot follows and answer the three:
iternes green below the figure. {c} 2C
During a party, a person was d) D

exposed to contaminated water A few

days later, he developed fever and doose |33. Which region of the curve indicates that

motivn: He suffered for some dayé before the treatment yielded effective relief ?
guing 1o a doctor for treatment), On (a;j C
starting the treatment, he soon becamei (b) D
better and recovered completely a few | e E

days later. The following graph shows
-y & & _ (di The curve does nov indicate the
different phases 4f the pefson’s disease treatment

condition as regions’A, B, C. D and K of
the curve. 34. There are four routes to travel from
aty A to city B and six routes from

3 city B to city €. How many routes are
> possible to travel from the city A to
& city C ?
B
3 _- ay 24
2 ;
5 L by 12
2z I
! fcy 10
; ‘dy 8

P-PFC-L-CG.B (20 A)
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30. FREIYl & IR, F. 3R A H GION & |31,

PRT T & ?

(a) faeh wopem & @

b Fe sy ¥ oemae & g R A

 UEF B0 O Heaal J Aia ggt

(©) @@ e 3R saRe Sed & 9
i o o

C (@ e e 3 @ 9 wifdert

& & TE & A D Ry 32.

PrafeiRaa 3 (dfl7) weien & fore Frder -

W G BT T Pw IR Pl F
A By e i g & 3% dfoe |

B o & Wi @Y B IR U

s welia o & wed § A | |

feeit are @R o1 TR MR & o Rl I
¥ 6 [T 96 98 gER 3R RS yradr
g1, R 399 gieer | &1 o) SUER YW
B B ITAE, T & I FARMESTT IE
A 71 3R a8 3B DR | Rega 39 @
T | Frefefae s ® 39 @fe St
e % faf¥m o1 96 6 A, B, C,D
E &3 % w9 ¥ qufe e & |

P-PFC-L-CGJB (21 - A)

34.

ap os DA-AYEE-4 &7 AEAT S
FeHaH TR B W B/E ?

(a) Al A

(b) aet B

© B3IRC

(d) B BT DI W WA ITHIT WOT DI el
i)

o & frw &7 X 3 dar & 5 3w s
¥ <gpwoT & FeT 9HT B IS gP ?

@ A |

(b) B

(c) «C
(d D

P & o0 &7 ¥ i S & 6 s @
purdy TEE W g3 ?

(a) C

by D

() E

(d) U TH TR B T A

R A IE% B O® oM & ol 9R I &
de1 9IEX B ¥ TR C 0 oM & fow
THE I R AY TR C a T & fow

e gwg € 7

(a) 24
(b) 12
(c) 10
(d) 8
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35. A contract on construciion job specifies
a panaity for delay in completion of the
work  beyond a certain date is as
follow= : & 200 for the {irst day, ¥ 250
for ~he sccond day, ¢ 300 for the thirdi
day etc, the penalty for each
succeeding day being ¥ 50 more than
that of the preceding day. How much
penalty should the contractor pay if he
delays the work by 10 days ? '
fa} T 4950
‘by < 4250
(e} 3600
td} € 650

36. Consider the fizure given below and
answer the item that follows :

P, r
}

Oz P |
ln the figure shown above, OP1 and OP, |
are two plane mirrors. kept perpendicu]ari
10 each sther. S ts the direction of a beam !
of light falling on the mirror OP,. The
direction of the reflected beam of tight
from the mirror OP,, will be
‘a; Perpendicular to the direction S.

b} At 453 to the direction S.
‘¢} Opposite and parallel to the
direction 8. '
(d) At 60° to the direction 8.
P-PFC-L-CGJB { 22

37.

38.

A

Consider the following figure und answer
the item that follows :

5 |

What is the minimum nurmber of different
colours required to paint the figure given
above such_that no two adjacent regions
have the game colour ?

(a} 3
(b} 4
(e¢f D
{d}y 6

Consider the following figure and answer
the item that follows -

)

| |
i 48 :

;

A D

A square is divided into four rectangles as
shown above. The lengths of the sides of
rectangles are naturaf numbers. The
areas of two rectangles are indicated ip
the figure. What is the length of each side
of the square ?

(a) 10

by 11

{e) 15

(d) Cannot be determined as the given
data are insufficient

Join Telegram Group
https://t. me/studymaterialofexam




35. .
it % W od e § 2 & fore &8 @
fader ooy wan &, S 59 VR € =R
feq & forw 2 200, TR R & fw 7 250,
AR B ¥ fae oz 300, .3 | TS
WRaal oA & for <3 fuee | & 2 50
s & | ok o gura 89 H 10 &
It ooid € o 3R @ fa &8 g
& T 7
(a) T 4950
(b) T 4250’
(c) T 3600
(d) %650

36. IR & W Fpe | R Hfw 3R 7
gar fie e g & W Al
FR & 7 3mpRi 3H,/OP, 3R OP, A wHaw
ador & 3 TR B&Ire R € | OP,
afor R TgY Al worel YA o e S # |
¥R F OP, T & WRakia Jerer g & feen
a1 g ? | |
() ST & aree
b SFErd s w
© 5 Ten & e sk wmidR
(d) Skemder<w

P-PFC-L-CGJB

feey FPeforad & Ifda &, v FeiRd

[ 23 - A)

37. 413 7 R W RaR AW 3R

uzarq e e yema w R e

FR & 1 gl ¥ ot fa i & Frscadl
&3 ¥ v o 1 A8 W= & A 3 Il
T a7 R B fow B9-A-58 fea sem-ae
Tt B TR _ghy?

{a) 3

b)), 4

(c) &

(d)y 6

Y & S Il R frar S R s

U fAT e T H IR A -

15

48
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39.

A person has only ¥ 1 and ¥ 2 coins with 142,
her. If tire total number of coins that she

has is 50 and the amount of money |
with her is & 73, then the number of € 1
and ¢ 2 coins are, respectively

ta; 15 and 35

b* 35 and 15

There are 100 students i a particular
claxs. 60"+ students play ericket, 30¢,
student play football and 107 students
play both the games. What is the
number of students who play neither
cricket nor football ?

‘al 2B
b: 20
{c} 1H
(d» 15

A wvillage having a population of 4000
requires 150 litres of water per head
per,day. It has a
20 mix 15 m % 6 m.
tank will last for

tank measuring
The water of this

‘ar 2 days
b} 3 days
v} 4 days
‘dy 5 days

If a bus travels 460 km in 4 hours and Directions for the following 4 (four) items :

fei 30 and 20 i
4 25 and 25 .
1
I
40. Three persons start walking together
and their steps measure 40 em, 42 cm‘
and 45 em respectively. What s the |
minimum distance cach should walk =0
that each can cover the same distance '
in complete steps ? l
i
‘al 26 m 20 em |
i
th: 50 m 40 cm i
ic) 75 m B0 em |
|
‘de 100 m %0 cm |
!
41.
a train travels 320 km in 5 hours at|
uniform speeds. then what ia the ratio
of the distances travelled by them in'
one hour ?
‘ai B:5
by 658 |
el 45 |
(dr 1:2 !
P-PFC-L-CGJB { 24 -

Read the following passage and answer
the items that follow. Your ansuwers io
these iterms should be based on  the
passage only.

Passage
A specics that exerts an influence
out of proportion to its abundance n an
ecosystemn is called a keystone species.

The keystone species may influence both
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39.

40,

41,

P-PFC-L-CGJB

TEERP S UH T 1AW T 2 Rgadp & |
gfz @%b N oA 50 feaes € 3k w3
z 75% & 39% U T 1 aun T 2 P fGa!
i T AT .

153k 35¢ -
) 353K 158
(¢ 303208
05 3% 25 ¥

{a)

(d)

& b TP WY CEeRT IRY Fe & g
IT6 DAl & AW HHIE 40 cm, 42 cm TAT
45 cm £ | W @ e gEan g3
S To alie TIPS ARG I g0 @B
O H IR ?

{a) 25 m 20 cm
by
(c)

(d)

50 m 40 cm
75 m 60 em

100 m B0 cm

i ve-warF i /40T RS §9 4 W
F 160 5N g0 T T & qA TH IS
5 ¥ ¥ 320 f5h g0 90 o 2, d 7
GRT US U W a9 & 7§ IRAT A &
FRAE P

| (a) 8:98

(by 5:8

,-(c) 4:5

(d 1:2 | _ -

42,

43.

{ 26 - A}

Y wa % el & G 1002 | 60%
faamell s A €, 309 faarll wesim
e & qun 10% Forel 25 @ v &
W e & S w@ & S 9 o fooe
G © 3R 7 & pestar Word € 7 |
(a) 26
(b) 20
) 18
@ 15

o T & S 4000 & ey fw ofy
@ie e 150 dliex S o navadwar
2 | 3% U pHwuE @ @ & e
MT 20 mx 15 mA6me | GHl B B
® 3 feem & § T @ ?

@ 2%=# |

(b) 3 &=t #
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the species richness of communities and

the flon of energy and materials through
ecosyrtems. The sea star Pisaster

vchracrus, which lives in rocky intertidal

ecosystems on the Pacific coast of North i
America, is alsn an example of a keystone

species s preferred prey is the mussel

Mytilus colifornionus. In the absence of !
sea stars, these mussels crowd out other .

competitors in a broad belt of the

intertidsl zone. By consuming mussels,
sed star creates bare spaces that are:r

taken over by a variety of other species.

A study at the University of
Washingtin demonstrated the influence of !
Pisaster on species richness by removing |
sea stars from selected parts of the
intertidal zone repeatedly over a period of _
five years. Two major changes ocegirred in f
the areas from which sea @&tars were
removed. First, the lower edge of the
mussel bed extended farther down into

the intertidal zone, showing that seca stars

f

are able to eliminate mussels completely
where they are covered with water most of ;
the time. Second, and more drainatically,
28 =species of animals and algae
disappeared from the sea star removal ;
zone. Eventually only Mytilus, the
dominant competitor, occupied the entire
substratum. Threugh its effect on:
competitive relationships, predation ])yt
Prsaster largely determines which species

live in these rocky intertidal ecosystems.

P-PFC-L-CGUB {26 - A)
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What is the crux of the passage ?

{(a} Sea star has a preferred prey.

(b} A preferred prey determines the
survival of a keystone species.

{c) Keystone species ensures species
diversity.

(d) Sea star is the only keystone species
on  the Pacific coast of North
America.

With reference to the passage, consider
the following statemonts :

1.  Mussels are gencrally the dominant
species in intertidal ecosystems.

2. Thew'surwvival of sea stars is
generally” determined by the
abundance of mussels,

Which of the statements given abeve
is/are correct ?

(a) 1 only

b} 2 only

{c; Both 1 and 2
(d) Neither 1 nor 2

Which of the following is‘are implied by
the passage ?

I. Mussels are always hard
competitors for sea stars.

2. Sea stars of the Pacific coast have
reached the climax of their
evelution.

3. Sea stars coostitute an important
component in the energy flow in
intertidal ecosystem.

Which of the statements given above
is/are correct ?

(a) 1 and 2
(b} 2 only
(¢) land 3
{d) 3 only
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A student on her first 3 tests received
an average score of N points. If she
exceeds her previous average score by
20 points on her fourth test, then what

I8 the average score for the first
4 tests ?

(a}) N + 20

(b) N + 10

c) N+4

d N+5

In a group of persons, 70% of the
persons _are male and 3062 of the
persons| aresmarried. f two-sevenths of
the males are married, what fraction of
the females is single ?

(a), 247
(b} 1/3
(c) 3/7
(d) 2/3

The houses of A and B face each other
on a road going north-south, A's being
on the western side. A comes out of hix
house, turns left, travels 5 km, turns
right, travels 5 km to the front of D’s
house. B does exactly the same and
reaches the front of C's house. In this
context, which one of the following
statements 1s correct ?

fa' C and D live on the same street.
{b; C’s house faces south.

{¢c) The houses of O
than 20 km apart,

and D are less

{d) None of the above

47. Consider the following assumptions ; 49.

1. The food chains/food web in an
ecosystem  are  influenced by
keystone species.

2. The presence of keystone species is
a specific characteristic of aquatic
ecosystems.

3. If the keystone species is completely
removed {rom an ecosystem, il will
lead to the collapse of the
ecosystem. 50.

With reference to the passage, which of

the above assumptions is/are valid ?

(a;) T only

{b) 2 and 3 only

(¢) 1 and 3 only

{d} 1,2 and 3 .

48. Consider the following argument

“In order to be a teacherhome ‘must |51.

graduate from college. All poets are poor.

Some Mathematicians are poets, No',

college graduate is_poor.”

Which one of the following is nof a

valid conclusion “regarding the above

argument ?

{(a) Some Mathematicians are not
teachers,

(b) Some teachers are not
Mathematicians.

(¢} Teachers are not poor.

{(d; Poets are not teachers.

P-PFC L-CGJB { 2B -
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P-PFC-L-CGJB

for the following 5 (ﬁve}i

Read the following passoge and answer

the toms that follow Your answers o

Ehase etvina <haenlid be based on the poassage
only.
Passage ‘

Now India’s children have a right |
to recerve at least eight years of eduration, -
the gnawing guestion is whether i wilFl
remain on paper or become a reality. One
hardly nmeeds a reminder that this rgsht
ts differont from the uthers envhrined n
the Constitution, that the beneficiary
‘a six year old child cannot demand ‘t, nor i
can she or he fight a Tegal bautle W'hl:’l’lé
the rieht v denied or violated, In all cases, §
1 in the adult soclety which muét acthon _-
behalf of the child, tn anothep peculiarity . _'
where u ohild’s right €0 edueaton is
dented no compensation offered later cun ,

l
be This

aui'

because ch:ldhoodidoes not last, If a legal |

adeguate  ond relevants 13

battle on behalf of a child

touzrht fin
eventually wor, it muy be of little use to

the bov or wirl because the opportunity

missed wl school during childhoed cannot
serve the =ame purpose ater in hfe. Thos

may be pamnfully true for girls because |

our sociely permits them only a .-:hortl

{ 30
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Al

childhood, f at ail The to

Right
Education (RTE, bas become law at a
point in India’s history when the ghastly
practice of femaic infanticide has
resurfaced in the form of foeticide. This
is “symptomatic of a decper turmeil” in
socicty which is compounding the
traditional obstacles to the education of
girls. Tenacious prejudice against the
intellectualypotentiul of girls runs aecross
our cultural diversiry and the system of
edueation_has not been able to address

1t

With reference to the passage, consider
the following statement:

. When children are denied education,
adult suciety does ngt et on behalf
of them.

2  Right to Education as a law cannot
be enforced in the country.

Which of the
is/are correct ?

statements given above

(a) 1 only

‘bhi 2 only

(¢; Both ! and 2
{d) Neither 1 nor 2
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52,
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Avcording to the passage, what could be i_55. Which one of the following statements

53.

the  traditiunal  ohstacles  to  the'l

edueation of wirla 7

1. Inabibty of parents o fight a legal

hattie when the Right to Education
1 deryed Lo therr children.

2. The traditiona! way of thinking

about girls’ role in society.

3. The prejudice against the '

i ellectual potential of girls, l

1 Iy praoper svatem of education

Select the correct answer from the codes

Hven bolow

ray | and 2 only

‘b 2. % und 6 anly

¢v 1.3 und 4 only

156,

d P24 ang 1

54. On the hasis of the passage, consider the
followin+ <tatements

. Right s Eduvation is » legal right and |
not a fundameéntal righy'

2. For realising the goal of universal
education, the education system in the
rountry must b made identical to that
of developed rountries,

Which of the statements given above -

Pe are vorreet ”

|

va. 1 only ]l

‘b 2 anly :

ey Both | and 2 |

fd* Neither ! nor 2

1
P-PFC-L CGJB (32 A
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conveys the of the

passage ?

key message

{a) India has declarced that education is
compulsory for its children.

(b} Adult society is not keem on
implementing  the  Right  to
Education.

(er The Right to Education, particularly
of a"girl child, needs to be
safeguarded.

(d» The system of education should
address the issuc of Right to
Education.

Which one of the following statements
conveys the wnfercnce of the passage 7

{a) The wsociety bas a tenacious
prejudice against the intellectual
potential of girls.

{b) Adults cannot be relied upen to
fight on behall of children for their
Right to Education.

t¢) 'The legal fight to get education for

children is often protracted and

prohibitive,

(d; There iz no sufficient substitute for
education received ir childhood.
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a5,
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Read the following passage and answer
the 3 (three) items that follow :

A, B, C, D and E are members of the
same family. There are two fathers, two
sons, two wives, three males and two
temales. The teacher was the wife of a
lawyer who was the son of a doctor. E is
ncet a male, weither also a wife of a
professional. C is the youngest person in 60
the fumily and D is the eldest. B is a|
male,

57. How is D related to E ?
ta) Husband
61,
(b) Sen
{cy  Father
'd) Wife
) 62,
58. Who are the females in the group ? [
{a) C and E
(b} C and D
fc) B and A
'83.
d; Dand B if
59. Whose wife is the teacher ?
@a) C
by I
(cy A j
‘dr B i
P-PFC-L-CGJB {34 - A)
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Read the following passage and answer
the 3 (three) items that follow :

In a survey regarding a proposed
measure to be introduced, 2878 persons
took part of which 1652 were males, 1226
persons voted against the proposal of
which 796 were males. 1425 persons voted

for the proposal. 196 females were
undecided.

How many females voted for the
proposal 7

{a} 430

(b} 600

(c) 624

(d)" 640

How 'many males were undecided ?

{a} 981

(b} 227

{c) 426

(d) 581

How many females were not in favour of
the proposal ?

(a) 430
by 486
(c) 586
(d) 1226

In a queue, Mr. X is fourteenth from the
{front and Mr. Y is seventeenth from the
end, while Mr. Z is exactly in between
Mr. X and Mr. Y. If Mr. X is ahead of
Mr. Y and there are 48 persons in the

queue, how many persons are there
between Mr. X and Mr. Z ?

(a) ©

(b) 7

ey 8

d) 9
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Frefeiad rarer @} 9ige sik 34 grang fiv
e 3 (i) e & IR & -

~ AB,C,DU ETS Q TRAR & e
£ fa & A g £ & ot & A
Ry ¢ 3R a1 fexdt € 1| sreafiet wF adia
@ UE &, U qOIA US Siaek o §H & |

E g5y 7 ¢ 3k 7 & ag 5 wewd &

T & | yRaR # C 999 &% 38 3 @ 3k
DI S8 & | BUw o9 ¢ |

. DEIEIFM AT & ?

. oY R aa g
(2) CHRE
() C3R D
) E3iRA
@ DIRE

. o v s & 2

(a) C

(by D
© A
(d B

(36 - A)

Frerfifea caie ot 9w sk Ja% qeag Re
T 3 (i) s & Iav difse -

q 9 39 W fov v ove wdemr § 2878

Hfwrat 3 e foran G5 1652 qow & |

1226 Sfhdi ¥ UaE & faog wa &,
o9 A 796 go¥ A | 1425 =HAT 3 WA
¥ e 7 7a fear | 196 Rl afqvifa o |

. ot et ¥ weae & wer  wa R 2

(a) 430
(b) 600
(c) 624
(d) 640

. o qon 3 & 7

(a) 31

(b)) 227

{c) 426
(d) 581

. Tt Rt weama & var F =&Y of ?

{a) 430
(b) 496

(c) 586

(d}) 1226

. & 9 F, ma X I @ 148 I R

¥ 3R fmm Y 3ig ¥ 179 o W) E, SEie
A Z, A= X 3R 99 Y § 3 Aem |
2 | e X i fwer v & 9 # sk o
W o1 48 TS €, AN AW X AR A 2%
i b afp & 2

(a) 6

M) 7

(c) 8

(d 9
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Directions for the
items :

following 9 (nine)

The followrng nine itvms 'Questions 64 to
72) are bosed on three passages in
English fo test the comprehension of
Engissh longuoge and  therefore these
iterns do not have Hindi version. Read
vach possoge and answer the ilems that
follow. |

|
Passage-1 |

He walked several miles that day but
coule not zet anything te eat or drink
except some dry bread and some water,{
which he got from cottagers and farmers.
As night fell. he slept under a haystack '
lying in a meadow. He felt frightened at;
first, for the wind blew awfully over the
empty fields. He felt cold and hungry, and
was {leeling more lonely than he had ever
felt before. He, however, soon fell “asleep,
being much tired with his Jong wulks
When he got up next day. he was feeling
terribly hungry o he purchased a loaf of
bread with a few coins thatibe had.

64. When the night tell, he slept
ia; wn the open field !
{by  under 2 pile of dry grass |
{c] in a tarmer's cottage
‘dr  under a tree
85, He soun fell aslewp because
fa)  he was exhausted
‘b he was all alone
¢ he had not slept for days
‘d; he was very frightened
P PFCL-CGUB { 36

66.

Al
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With reference to the pussage. consider
the following statements -

1. He
countryside,

was walking through the

2. The cottagers und farmers gave him
enough food so that he could sleep
at night without feeling hungry.

Which of the statements given above
is/are correct ?

{a} I only

(b} < only

{¢y Both lrand 2

(d)Neither 1 nor 2

Passage-1I

1 opened the bag and packed the
boots in. and then, just s 1 was going to
close it, a horrible :dea occurred to me.
Had I packed my toothhrush ? 1 don't
know how it 15, but [ never do know

whether I've packed my toothbrush.,

My toothbrush is

haunts me

a thing that

when [I'm travelling, and
makes my life a mi=ery. [ dream that |
haven't packed it, and wake up in a cold
perspiration, and get out of bed and hunt
for it. And, in the morning, [ pack it before
I have used it, and t 15 «Jways the last
thing I turn out of the bag: and then 1
repack and forget 1. and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up

in my pocket-handkerchief.




Befafiaa 9 () weiel & e Rl -

64.

65.
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Frffiaa 9 (3 yearer (voier 64 ¥ 72)
395 & T e o arenRa & 3k st
yr & S & uderor & foe & | s g

oo @ fodft oim & Rar ow e & /|

e faier uide qen Fafiad s @
3a7 afow |

Passage-1

He walked several miles that day but

could not get anything to eat or drink|

except some dry bread and some water,
which he got from cottagers and farmers.
As night fell, he slept under a haystack
lying in a meadow, He felt frightened at
first, for the wind blew awfully over the
empty fields. He felt cold and hungry, and
was feeling more lonely than he had ever
felt before. He, however, soon fell asleep,
being much tired with his long walk.
When he got up next day, he was feeling
terribly hungry so he purchased a leaf of
bread with a few coins that he had.

When the night fell, he slept
(a) in the open field
(b) wunder a pile of dry grass

{¢) in a farmer’s cottage

(d) under a tree

He soon fell asleep because
(a) he was exhausted

(b) he was all alone

(¢} he had not slept for days
(d) he was very frightened

{37 - A}

66. With reference to the passage, consider

the following statements :

1. He was walking through the

countryside.

2. The cottagers and farmers gave him
enough food so that he could sleep
at night without feeling hungry.

Which of the statements given above
isfare correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither. 1 nor2

Passage-I1

I opened the ba'gr and packed the
Boots in; and then, just as I was going to
close it, a horrible idea occurred to me.
Had I packed my toothbrush ? I den’t
know how 1t is, but I never do know
whether I've packed my toothbrush.

- My toothbrush .is a thing that
haunts me when I'm travelling, and
makes my life a misery. I dream that I
haven't packed it, and wake up in a cold
perspiration, and get out of bed and hunt
for it. And, in the morning, I pack it before
1 have used it, and it is always the last
thing I turn out of the bag; and then I
repack and forget it, and have to rush
upstairs for it at the last moment and

. carry it to the railway station, wrapped up

in h:y pocket-handkerchief.
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67. When he was going to close the bag, the |70.
tdea that occurred to him was
vl unpleasant
‘b sad
et funtastic
‘d)  amusing

68. What makes his life auserable whenever ;
he undertakes travelling ?
‘al CGoing to railway station 71.
by Forgetting the toothbrush
'¢" Packing his bag
‘d; Bad dreams

89. His toothbrush is finally |
fay m his bag
‘b i his bed
(¢c: in his handkerchief :572.
‘d:  lost

Passage-I11

Io spring. polar bear mothers emerge from |
dens with three month %ld eubs. The
mother bear has fasted for as long as eight
months but that'dog+ nutfstop the young i
from demandings full access to her:
remaining reservesy If there are triplets,
the most persistent stands to gain an
extra meal and it may have the meal at
the expense of other<. The smallest of the
hitter forfeits many meals to stronger
xiblings. Females are protective of their
¢cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only once seen the smallest of I
triplets survive till autumn.

P PFC-L-CGJB {38 - Ay
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. |

Female polar bears give birth during
‘a) spring

h: summer
(c)

autumn

d)  winter

Mother bear

{a} takes sides over cuhs

(b} lets the eubs fend for themselves

{c} ") feeds only their favourites

(d), sees that all cubs get an equal share
With reference to the passage, the

following assumptions have been made -

1. Polar bears fast as long asz eight
months due to non availabslity of
prey.

2. Polar bears

triplets.

always give birth to

Which of the assumptions given above
is/are valid ?

fa) 1 only

D) 2 only

(e} Both 1 and 2
{d) Ncither 1 nor 2




67. When he was going to close the bag, the | 70.
idea that occurred to him was
(a) unpleasant
(b) sad
{¢) fantastic
(d) amusing

68. What makes his life miserable whenever
he undertakes travelling ? 1.
{a) Going to railway station
(b) Forgetting the toothbrush
(¢) Packing his bag
(d) Bad dreams

69. His toothbrush is finally
(a) in his bag
(b) in his bed

72.
(¢) in his handkerchief
{d) lost
Passage-II1

In spring, polar bear mothers emerge from
dens with . three month \old cubs. The
mother bear has fasted for as'long as eight
months but that doesynot stop the young
from demanding full',access to her
renaining reserves. If there are triplets,
the most persistent stands to gain an
extra meal and it may have the meal at
the expense of others. The smallest of the
litter forfeits many meals to stronger
siblings. Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only once seen the smallest of
“triplets survive til! autumn.

P-PFC-L-CGJB {38 - A)

. Female polar bears give birth daring

(a) spring
{(b)
(c)

(d)

summer
autumn

winter

Mother bear

‘(a) takes sides over cubs

(b) lets thecubs fendl for themselves
feeds only, their favourites

(c)

(d) seesythat all cubs get an equal share

the
following assumptions have been made :

With reference to the passage,

1. DPolar bears fést as long as eight
months due to non-availability of

prey.

2. Polar bears always give birth to

triplets.

Which of the assumptions given above

is/are valid ?

(a): 1 only
(h) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2
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Directions
items : ¢

73. You have been asked to give an
explanation  *or  not  attending.  an
mportant official meuting, Your
mmediate boss who has not 1nformed |
you about the meeting in maw putting
Pressure on  you not \to place anf
ullegaton against lm/er. You would
‘a  =end o written' reply explaining the

f.;.ﬂ:t,

b, sevk wn appoiniment with the t.opi-
buss to explain the situation. |

v adrmot  your fault to  save the
sitaation,

d- put the responsibiiity on the ll
coordinator of the meeting for not:
informing.

P PFC-L-CGJB ( 40 --

for the

Given beliwe are vight items HKuach z'zw?a{
describes o sttuation and is followed byi
the
apprupricte.

four possihle  responses.  Indicate

responsse  yolo ftnd mosd

Choose ordy une response for ecch item.

Th: resporeses will be evaluated tused on '
the ‘erel uf cppropriateness for the given !

situwation.

Please atiempt all the items. There is |
no penally for wrong answers for.

these vight items. [
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following 8 (eight) :74.

75.

76.

Al

A local thug (bad element; has started
illegal construction on your vacant plot.
He has refused your request to vacate and
threatened you of dire consegquences in
case you do not sell the property at a
cheap price to him. You would

{a; sell the property at a cheap price to
him,

(b; go to the police for necessary action.

¢y ask for help from your neighbours.

‘d}  negotiate with the
higher price.

goon to get a

You havesto agcompiish a very important
taskyfor your Headquarters within the
next, twondays. Suddenly you meet with
ap accident. Your office insists that you
complete the task. You would

{a} ask for an extensiuon of deadline.

(by inform  Headquarters of your
inability to finish sn time

{c) supgesl aiternate perscn to
Headquarters who may do the
needful.

(d; stay away tili you recover,

You are an officer tn-charge for providing
basic medical Facilities Lo the survivors of
an earthquake affected area. Despite your
best possible effort, peuple put allegations
against you for making morey out of the
funds given for relief. You would

ta; let an enguiry be set up to look into
the matter,

(b} ask your senior to appoint some
other person in your place.

{¢}  not pay attertion to allegations.

«d; stop undertaking any initiative till

the matter is resolved.




ﬁwf?n%asrsna)wafvﬁasﬁv%:
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73.
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v Refy a1 avfa & 59 vearg 39 OR
gyg v Re me & 1 /e IR @ I
waifers 39geh Are ¥, 39 319 39 TR &
vy 4 3ifeq #fow | s gee & fewe
Fact v & IR glw | IR B Jedio,
& 7 Refr & forr Jugeear & &R & 3R
¥R fFar e |

guar w4 wewen & FR difore | 5T s
geren & fore waw IRi & e o a3
T & i

ve wEeul aEmiRe do® # Juferd T
B & PRU IO D! TEIHIOT AN
™ g | sy s FteR S
IMTH TF Yo P TGN A8 & A 3|
AT R UF cad s ERE & 5 oam
BT QY 39 W IE e | U AT T

T P

(@) @A @ TR DG, 8L I9AT foRed

IR WS

(b) 3 T st @ Rufl 3 s
I & foe 399 9T & JHa @

. Rufg & wuem & oo s dw
R A |

(d) 90 & TIEUE W maﬁa
e & 5 T do3 & FEER &
QA |

T4,

5.

76.

(41 - A

®) msq@suasaaﬁmé’ré%ug%ﬂasw
l

(¢) 3= uSifgal | wag AR |

(@ 39 B ¥ 3R e B e & o
IO SEdd.B |

T & T 3 & foe s

v 31 HETEYY! BRI BT & | FaES

G} BT € | 391 Braferd AT

R U BN o1cl &7 & o 3mq &1 &1 9y R |

TR A TG FA P

(a) B [T B & 3ifer ffer 3 g
grafa i | '

(b) I TEAED B R A 3
T ISR Q@RI AT &1

(¢) I GEED B 0F IDieud At &
A e 0 Hrd Y R Feberl € |

() EF T a% A 3 & |

fest v W wwifaa & W o

Y % % e T it Prges

feor men & | Imed W AW DR

ITaIE, A TS FR T8 HRY 0 @ € [

A S A E I AR RE |

O F 3y T B[ ?

(a) 39 TN & 59 e A Fa-ugad
IRY o ¢ |

(b I aies st dFam s s 9
ITF WH R oA R afs 3
ges ax < |

(¢) 39 FIRWI W F €a= =& 3 |

(d) Si9 dF AW goe e e o d
T By U8 gl BNl |
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71.

78.

You have been made responsible to hirel‘?Q.

boats at a zhort notice to be used fur
an ares uander f(lood. On secing t;hc‘
price mentioned by the boat owners you
found that the price wis |
approximately three times more l.han‘
the appruved rate of the Governmont.

You would l

iowest

a’ reiect the proposal and cail for u

|

fresh price.
b accept the lowest price.

el refer the matter to the Government i

and wast.

{d: threaten the boat owners about a

possible cancellation of the licence. |
You are the officer-in-charze of a vitlagd
administering distribution of vaccine Yig '
an isolated epidemic hit village, and
left  with
There 12 a requirement of that vaccine |

you arv only oned vaccine 4

from the CGram Pradhap and alko s 80.

poor vilager Yuu are béing preh’surl_rﬁedi
by the Gram Pradhan 1o
vaccine to him You would

fasue  the !

‘ay initiate the, procedure to expedite
the next supply without issuing the |
vaccine to either. l

rFa “ Al . i
{(b: arrange vaccine for the poor villuger '
from the distributor of uncther area.

‘¢! ask both to approach a doctor and’
get ap input about the urgency, -‘

i l.
rd}  arrange  vaceine  for the Cram
1
Pruchan from the distributor of

another area

P PFC-L-CGJB ¥
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You have taken up a project o create

night shelters  for homeless people
during the winter scason. Within  a

wieek of Gatablishing <a¢ shelters, you

have rceceived complaints from  the
residents of the area abont the increase
in thefl cases with a demand to rernove
the shelters. You would

them  to written

(aj ask lodge a

complaint in the police station.

tb)  assure) residents of an enquiry into
the matier,
vonxider the

{c: CaskWresidents tir

humanitarian effort made.

.d  continue with the project and igrore

their ¢omplaint.

You, as a0 administrative authorty,

have Dexen approuached, by the
dauzhter-in law of an ‘afluential per.wn
regarding narassment by ber in-laws on
account  of insufficient dowry. Her
parcnts are not able to approach you

becausc of serial pressures. You would
fa} call the in laws for an explanation.

‘b counsel the lady to adjust, given
such a ¢ircumstance,

't take action
approach you.

afler  her  parents

‘d: ask bher to lodge s complaint with
the police.
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T -0 &7 F ue AW o W)
el Wy W o @ afae R @
W AU 9 & [P =EaH DT TRER B
FPEIET W & e A9 T st &
e A i o i e

(a) P TG & T T A5 DA
HEme |

(b) TACH DIFT B BR T AN |

‘(¢) AFA & TWHR & TH AF & IR

TArer ST |

(@) AlE-Arcel B gl e B IS
ey Xg 8 9@l & |
U Iba wemN-Qfds i # amw

AT-FRIeE A% & fTavor == I wWRY|

ey & sk ud uw FHawr o o
I-FRes S s g & | 59 S
TH-HeH P 3R 39 vl & ve = @t
N A ¢ | 39 R Ig TG T g &
5 3 g @ tm-aaEE € 2 | O A
T FOT BT P _
(a) THI & & S A 2aR AT P @
FEl ¥y o Sg-sfaeiy ua
éﬁmﬁaa%vaﬁaﬁmgﬁaﬂ
|
50 R &9 & foRe @ Wi & 3
ftR & fow O o suawen =T |
(¢) A @ e B Siex A el ik &
B FAFITHEA] F TR A ITD IR
A AP |
& g a7 & faaws A a-wemr &
foe &% & v B |

(b}

(&)

79.

80.

(43 - A)

JE, 9 ®G H TR dml & foe JeaR
T P UH 9T A gl A @ &
A TR o =ltd & $ v T9E &
Tox &, e 39 a7 o FHafhaar @
TWRAT & A g 3 Brawraat & YT g8
mwg@%ﬁshaﬁ%mﬁewmﬁ
39 F1 A ?

(2) 39 HaRd & w0 6 9 39 90t A
yferg ®ee W 3 fofea Riea
e

(b) mﬁarﬁm‘raﬁuaﬁwmﬁ;am%
T PSd-Ugaid S Je |

© 3\ ekl @ w2 B 3 e
HFGAIETE YA BT 999 |

@ 39 Faim & Seag & aFeE
B URAlSHT D IR @ |

U6 WHIGEel afts o TaeY Jud UM,

NG wenaHs WiteR 89 & 9™, a8

Rreraa e} 3t & 6 39, a7 a3

IO Sl & fe dn R R 8 | 39

H1al- a1 TETisie SEEl & BROT HAS T

T wr R & | W H 0 For HA 7

(a) MM IG5 TGS Tl DT AST I
LT JH |

(b) 3T I TN B Tg TOE o &
Rkl & d=d gE 98k g 6
ag Reafa & wweiiar a= o |

(¢) F IF> AKT-Nal F TP I 3N
R & PRiEE B |

d) 3T 3 S @ I8 9eng o & aw
gferT & o S0 ereraa &5t R |
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SPACE FOR ROUGH WORK
H=) &M & fore v
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Note : English version ol the instructions is printed on the front cover of this Booklet.
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